Cellular Respiration Practice Quiz

1. Cellular respiration can best be defined as
A. A conversion of sunlight to chemical energy
B. A conversion of food energy to a more usable energy form
C. The hydrolysis of ATP to release stored energy
D. A process that only animals use to generate ATP

2. Which of the following IS NOT produced in cellular respiration?
A. H2O

B. CO2

C. ATP

D. O2
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3. Describe the importance of the process shown above
4. NADH and FADH2 are similar in that they both
A. are generated in glycolysis
B. are capable of reducing the proteins of the electron transport chain
C. are also found in photosynthesis
D. are generated in oxidative phosphorylation
5. Which of the following best explains why aerobic cellular respiration produces more high energy molecules than anaerobic respiration?

A. Substrate level phosphorylation occurs during glycolysis

B. Allosteric enzymes affect the reaction rate

C. Glucose is oxidized completely to carbon dioxide and water during aerobic respiration

D. Aerobic respiration produces lactic acid as a by-product

6. Glycolysis requires which of the following molecules?

A. NADH
B. NAD+
C. Oxygen
D. CO2
7. Explain the importance of oxygen in cellular respiration 
[image: image2.png]p@I®ToxmM NOO

500 1,000 1,500
Light Intensity -foot-candles

2,000




8. The graph above represents data collected on the carbon dioxide exchange between an aquatic plant and it’s pond.  Which of the following is the best conclusion about the CO2 exchange in total darkness?
A. The Calvin cycle is still trapping large amounts of carbon dioxide
B. There is no carbon dioxide being exchanged with the pond
C. More carbon dioxide is being released from the plants’ mitochondria than is taken in by the plants’ chloroplast
D. No photosynthesis or cellular respiration is occurring 
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9. Explain why NADH leads to a greater production of ATP than does FADH2.
10. The original source of the electrons that travel through the ETC shown above is
A. H2O

B. Glucose
  C. O2

D. CO2  
11. This membrane most likely belongs to a
A. Cricket
B. Frog
C. Mammal

D. Fish

Explain:

12. Which of the following statements about glycolysis is false?
A. It is a universal energy-releasing reaction
B. It is the enzymatic break-down of sugar into pyruvate
C. The enzymes for the reaction are found in the mitochondrial membranes
D. It is able to produce ATP even in the absence of oxygen
